
DESCRIPTION QTY.

Ref.: 8563

45 min1 person

Nº 3
Nº 4
Nº 6

ALLEN

y

DDDiffifificcuuullt

YAMAHA XSR900YAMAHA XSR900

M5 ISO 7380 screw cap

M5 silentblock

M5x11 Ø16 ISO 7380 Allen screw

M5x1 Nylon washer

L central metal support

L front metal support

L back metal support

R central metal support

R front metal support

R back metal support

eft side cover

Right side cover

6

6

6

6

1

1

1

1

1

1

1

1

1

12

9

10

11

6

8

4

5

7

16

3

2

1

M6x16 Ø11 ISO 7380 Allen screw

M8x25 DIN912 Allen screw

M8 locking nut

2

2

2

13

14

15

Nº 13

Pg. 1/3

- SIDE COVERS FOR - 

 Eas

Intermediate

ID.    PART



    S      

YAMAHA XSR900YAMAHA XSR900

1

3

2

4

Pg. 2/3

A

A 6

94

15

9

14

13

9

8

LEFT SIDE DISASSEMBLY

TANK COVERS DISASSEMBLYSEAT DISASSEMBLY

LEFT SIDE ASSEMBLY

Original partsA

- SIDE COVERS FOR - 

 - MOUNTING INSTRUCTIONS - 



    

YAMAHA XSR900YAMAHA XSR900

5

7 8

6

Pg. 3/3

RIGHT SIDE DISASSEMBLY

RIGHT SIDE ASSEMBLYRIGHT SIDE ASSEMBLY

LEFT SIDE ASSEMBLY

Original parts

Original parts

Original partsA

A

A

A

A

2

1

16

16

11

11

10
12

10
12

10 12

10
12

11

11

11

10
11

10 12

12

A

A

A

A

A

A59

9 3

15

14

13

9

7

 - MOUNTING INSTRUCTIONS - 

 - SIDE COVERS FOR - 

Rely on premium motorcycle frames & body by Puig if you’re looking for quality and efficiency.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html

